EM 8C Assessment Test

Test 2
Answers
1. 44kg
2. a)160cm b) 8 c) Agree
3. a)5n, 3n+3 b)6n + 4
4. a)0.231 b) 0.28 ¢) 0.85
5.
al \d =]
6. 8&4
7. a)
3142 154 x 7 = 1078
1 326
+ 2 811
7 279

8. a) 1 hour 25 minutes
9. a) 44> b) 15
10. a)

x |0 (1 |2 |3

Y |1 |3 |5 |7

b)
11. 216
12. a) true b) false
13. a) £20 b) £3

b) 10 minutes
c)(9—-6)x2=6,0r9—(6+2)=6

c) true
c) Median



14.

le

6 y=4x

N (a)

2

X

0 2 4 6
15.a)n=§ bjn=25 cjn =2
16. £40.50

17. a) example,
(4n-5=02n+1)
n—2n=1+5

2Zn==6
n=3
18.
19.
F:I
. Q
0]
A Z*(B
20.

5m+ 3n
|3m+3n| 2m ‘
|2m+4n‘ m=n | m+n |




